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Answer1

Write the recurring decimal 0.25 as a fraction.
[0.25 means 0.2555...]

Multiply the number by 10 to “shift it” by one repeating cycle.
10 x:0.25 =255
Subtract the number with recurring decimal from both sides.
9 x 0.25 = 2.55—0.25

9 x0.25 = 2.3

Divide both sides of the equation by 9.
025 =22
U9

Multiply the denominator and the numerator of the fraction by 10

025—23
T 90
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Answer 2

Write the recurring decimal 0.4 as a fraction.
[0.4 means 0.444.. ]

Set x = 0.444 ...
10x = 4.444 ...
10x —x =4.444 ... — 0.444 ...

9% =4
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Answer 3

Write the recurring decimal 0.36as a fraction.
Give your answer in its simplest form.
[0.36 means0.3666...]

We have that

100 x 0.36 = 36.6
10 x 0.36 = 3.6
Subtracting these we get
- 100(0.36) — 10(0.36) = 33

- 90 x 0.36 = 33

., 33
- 0.36 = —

90

11
30
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Answer 4

Write the recurring decimal 0.25 as a fraction.
[0.25 means 0.2555.. ]

Multiply the number by 10 to “shift it” by one repeating cycle.
10 x 0.25 = 2.55
Subtract the number with recurring decimal from both sides.
9 % 025 = 2.55—025
9 x0.25 =23

Divide both sides of the equation by 9.

P
T 9

Multiply the denominator and the numerator of the fraction by 10

025—23
BT
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Answer5

Wirite the recurring decimal 0.2 as a fraction.
[0.2 means 0.222...]

Give it a name: =0222222..

Multiply by 10 until the 19f = B2I2227,

decimal parts are the same:  10f — £ = 2222222 ...— 0.222222 ...

Subtract to get rid of the 9f =2

decimal part:

~
Il
O N

And simplify:
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Answer 6

/7\30.'3%%%5/&, N

Use algebra to show that the recurring decimal 0.38 = 18

T:u%é
ot 70
lof = & &

P 1601&: Zg.é

)

loof - lof - 2g.8-2-€

t0f = 38
T 10
f 22
Qo
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Answer7

.,S/W 0.[?—7,?,;2;7_7\’-
Show that the recurring decimal 0.17 = o

}(KO{ F ..
of = -7

loof~ ot ~ 2.2 — (-7
Gof= \¢

0 90
(-1

10

;-2

s

e {loo{: 7.7

. &
é’%g
f
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Answer 8

Prove algebraically that the recurring decimal 0.25 has the value %

D ELwaA Yoo ¢

= . 255SCCC .
( ‘g © g A Chnn&
x (O
lof = 2.55S<cC .
{ 5 Col AT
X o [oo{ . 2§ &eesty’ (HES NAY
Gop - 23
A qo
Ao
___‘;_.—-d__—-—__

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

;=

EXAM PAPERS PRACTICE

Answer 9

/~ O-CE2€3¢ ..

Prove that the recurring decimal 0.36= %
26

¢
B —of—=—2—%
(o { loowﬁ - 2624

49 = 3¢
ﬁ/a/ 24

. 3¢
P' Q4

_ At
F=

B

W -
|
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Answer 10

Write these numbers in order of size.
Start with the smallest number.

0.246 0.246 0.246 0.246
02/66’6 = @.Z@g@é@é B
O 1Ll = O 2666 ...
O Ll <« O-TLebet?
O L b = © &6

v Oerer. o Si2&

Okt ai@é, 0. 2eé O T

/
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Answer11

Write the recurring decimal 0.63 as a fraction in its lowest terms.
You must show all your working.

100 x 0.63 — 0.63 = 63
= (100 —1)0.63 =99 x 0.63
- 99 x0.63 =63

Now divide through by 99

(8=
= 0. = —
99

Cancel out 9 top and bottom
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Answer 12

T@-%!?l«(?@(?@r;m

Use algebra to show that the recurring decimal 0.417 = 333

g Froen
X 10 - )
Ko {;%%fle%+*#ﬁﬁ‘

(o %atmofl GlF4(7

A}

T |7 — 0 4l?

looof - f-:
49ef = 7
414 114
f- &=
99

:F R %HZ‘?
2313
-2

233
e —
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Answer13

Write the recurring decimal 0.18 as a fraction in its lowest terms.
[0.18 means 0.181818... ]

Give it a name: f =0.181818 ...
Multiply by 10 until the
decimal parts are the same: 10f = 1.818181 ...

100f = 18.181818 ...
Subtract to get rid of the

decimal part: 100f — f = 18.181818 ...—0.181818 ...
And simplify: 99f = 18
_ 18
/= 99
_ 9Ix?2
/= 9x 11
2
/= 11
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Answer 14

Write the recurring decimal 0.48 as a fraction.
Show all your working.

48.48 — 0.48
=48

We can also factorise out the recurring decimal, making it

equal to
0.48(100 — 1)
=99 x 0.48
Hence

99 x (.48 = 48

0.48 = 28
— i T —
99

16
33
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Answer15
— 2
Show that the recurring decimal 0.396= % O 36TICLICL%%6 -
(= 0 .396

(O ‘( - ¢
tof—=——23-46%

o €t sa i

(o ‘6[,000{ :Z%Z‘ié
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Qqq A
[- 2=
149
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